POPMYABI CAOIKEHHSA

TpuroHomerpudeckue (OPMYyAbI




IloBTOpPEHUE

0 M, (cos a;sin a)
M, (cos(-a); sin(-a))

o & W DN

sin(-a) =?
cos(-a) =
tg(-a) =1

ctg(-a) =!?

sin’(a) + cos?(a) =?




c0s315 °=; sin245 °=;sin103 "*cos112 ‘=

O &

sin189 "=; cos 279 "=; sin 247 * *cos123 =



DOPMYABI CAOKEHUS

DopMyAaMU CAOXKEHMS Ha3bIBAIOT POPMYABI,
Bbipaxkatowme cos(a = B) M sin(a £ ) Yepes KOCUHYCbI U
CUHYCbI YIIoB a u f.

cos(a + ) =cos acos P -sinasin 3
cos(a - ) =cos a cos B + sin a sin 3

sin(a + B) =sin a cos B + cos a sin

sin(a - ) =sin a cos B - cos a sin



Teopema

[ Aas Al0bbix a u 3 cnpaBeAAMBO paBeHC- %
TBO cos(a + 3) =cos a cos 3 —

-sinasin 3 Ma+p

1 I'lo onpeaeAeHuio:
Ma (cos a;sin a)
M-p (cos(-p); sin(-B))
Ma+p (cos(a+p); sin(atp))
1 £LM,OMa+p = LM_BOMa
1 = AM,OMa+g = AM_BOMa
0 = ocHoBaHusa M ,Ma+p = M_BMa PaBHbI
1 A 3HaYUT paBHbl (M-BMG)Z M (M,Ma+p)?




T

Teopema

Nmeem:
Mo (1;0)
Ma (cos a;sin a)

M-g (cos(-B); sin(-B))
Ma+p (cos(a+f); sin(atp))

(MyMa+p)” = (M Ma)*
= (1 - cos(a+B))? +(sin(a+P))? = (cos(-B) - cos a)? +
+ (sin(-B) - sin a)?
& 1 - 2cos(a+p) + cos?(a+B) + sin*(a+P) = cos? B -
- 2cos B cos a + cos? a + sin? B + 2sin B sin a + sin’ a
< 2 -2cos(atP) =2 -2cos acos B+ 2sin asin
< cos(a+B) = cos a cos B - sin a sin 3



CaencrBue 1

cos(a-B) =1?

cos(a - B) = cos(a + (-B)) = cos a cos(-B) - sin a sin(-B)=
=cos acos 3 +sinasinf

cos(m/2 —a) =sina
sin(mm/2 —a) = cos a

cos(t/2 — a) = cos(1/2) cos a + sin(1/2) sina =sin a
T.e.cos(m/2 —a) =sina

[Mpu a = /2 — B umeem:
cos(mm/2 — a) = cos(m/2 — /2 + B) = cos B = sin a = sin(1/2 — B)
T.e.sin(m/2 — B) = cos P



CaencrBue 1
1 sin(a + B) = cos (/2 - (a + B)) = cos((/2 - a) - ) =
= cos(m/2 - a) cos B +sin(1/2 - a) sin B =

=sinacos 3 + cosasinf

1 sin(a - B) = sin(a + (-B))= sin a cos(-P) + cos a sin(-B)=

= sin a cos B - cos a sin

Takum obpaszom,
1 sin(a + ) =sina cos 3 + cos a sin f3

1 sin(a - B) =sina cos f3 - cos asin 3



CaencrBue 2

1 Mo>kHO BbIBECTM aHaAOTM4YHble GOPMYAbI AAS tg(a £ [B) m
ctg(a £ B).

1 tg(axP)=sin(axP)/cos(azxf)=
=(sin a cos Bxcos a sin B)/(cos a cos B F sin a sin )=
=(tgaxttgf)/(1+tgatgf)

1 AHanNornM4yHo
ctglaxPB)=(ctgactgB=+1)/(ctgpP ctga



Bblyncnntb:

cos 75° (npeacraBmm 4ncro 75 B BUAe criaraeMbix
30 n 45, 3anuwem) = cos (30° + 45°) =
(Bocrnonb3yemcsa qoopMyrion cos CyMMbl YrnoB) =

cos 30°cos 45° - sin 30°sin 45° = (nogctaBum

1 2
Tabnn4yHble 3Ha4YeHud sin N cos) ‘/2— V2 _ 1,3z

2 2 2
Vo V2 _ J6-v2

4 4 4




Bblyncnntb:

cos 15° (npeacrasmm yncrno 15 B BuAae pasHoOCTuU
yucen 45 u 30, 3anuwem) = cos (45° - 30°) =
(BOCMnosnb3yemcs QOpMysion COS Pas3HOCTU YITIOB) =

cos 45°cos 30° + sin 45°sin 30° = (nogctaBmm

. 2 3 2 1
Tabnn4yHble 3Ha4YeHud sin N cos) ‘/7— * ‘/7_ + ‘/7_ * = =

2
x/E_I_x/i: V6 + 2

4 4 4




Bblyncnntb:

sin 210° (npegctaBum vncno 210 B BUAE CyMMbI
yucen 180 u 30, 3anuwem) = sin (180° + 30°) =

(BOCnonb3yemcs qoopMynou sin CyMmbl YrinoB) =
sin 180°cos 30° + cos 180°sin 30° = (nogcTtaBuUMm

. 3 1
TabnnyHble 3Ha4YeHus sin 1 cos) 0 * ‘/7_ + (—1) * =

1

2



Bblyncnntb:

. 8w T . T 8m v
Sin —-cos— — sin—cos— (BOCnosnib3yemcsi opmyriou
. . 81 T . 7TC .
sin pa3HOCTU yrnoB) = sin (7 - ;) = sin (7) =sinm
=0



[lomaluHee 3agaHue

28, popMysIbl BBIYYHUTH!
BeImmicars ¥ BbIYYUTH

dopmyny tg CyMMBI YITIOB.
Ne 481, 484, 485



